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Algebra TI
Test Review Unit 11

Date

Test Review: Rational Expressions and Equations. Your test will also consist of graphing Rational equations.
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7. Find the quotient 13 ? , and express in lowest 8. Simplify the expression m5
1t Smp
terms. P
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9. Find th ession that i ivalent t 10. Simplify ! + =
. in e on is equiva . Simplify:
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11. Simplify the expression s—s T3 "s Simplify = + o -+ Tz +2)
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13. Simplify: % - - 14. Find the difference
Y Yy ’
in lowest terms.
8 6 — 2y
a.) F b) Wyz a) . €
9-—2 16—-3 vty
) — oY
C) yZ—y d) y3 ) _*3:_
2(x? +y?)
Solve.
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r—3 5 1 6-7 : 4 v

R —_— — —_— 18. —2= 0

17 3r iz r 6r v—4 * 4 -

18 0
19. n2_9+1—n+3
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Name: Class: Date: ID: A

Test Review Unit 11

Short Answer

1. State the horizontal and vertical asymptotes, domain, and range of the graph below.
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2. State the vertical asymtote(s) for each rational function.

3 x—4 5
N A = fix) = ——mree——
x+5 b}.}'\x} x3 _49x c).l \x/ (xus)(x+9)

2) fix) =

sikeenay:12-SNEEENEY 3/21/2012 2:53 12M Page 1 of 2



